Luuruaprr

wrwpwpyynn wypwuph wdpnngwjwl

2P UNNrs Uume-u 6R-EUXUMQR-25/85 swélywanny ywadwlybpwywd ElGuinpnuwihu wénipnht dwulbwygbnL 2ppwtwyncd
uGpyuwjwguntd £ hp Ynnuhg wnwpwnpyynn wwpwluph wdpnnpgwlywl bUjuwpwaghnpp

Qwihwpwdlh Unwewnyynn wwpwlph
hwdwn wpunwnnpnnh wnbhuuhyjwywu punLpwaghpp
wudwlnidp
4 3A0 3UCO Quwithtpp Epywnnie)niu’ 3580 JU, Lwjunipyntu™ 2875 Jd , Pwpanncpjnltl’ 3820 JU

Ywnnigwoépwiht wnnudny puwnwjhb hwdwhpp wywtbunp E ywunpwunyjwd |huh JGunwnwluwl
hGUwujnLtutphg” ubndwyutbpny W uGpYwnnigywd wdpwyutpny wdpwgywd hwuppwyutpny®
unwpwl, Jwggdwl hwppwyhg, wpgbiwwwuwnutoubphg, mwuhphg:UGnwnwwl Jwubpp wyGwnp
EuGpydwd (hubu wynihdGpwjihu thnpt Edwiny phudwl JdGpnnnd, hugp nhdwgyniu £ nwpduncd
hwdwihpp Gnwluwluwjhu wwjdwluutpht nhdwlwnt hwdwp: Lppwwnwhinwyh Jwubpp wbuwnp E
ubGpyywd |hutu NORDICA utpyny Ywd hwdwnpdbp wyphjwwh hhdpny uGpyny W wyGwp £
(wpwwwwinybl TEKNOCOAT-ny wd hwdwnpdtpny: Swéynpp wtwnp Eunbnéh wdncLp
wuw2nwwuncpintu dwwénipintuhg: dnipu ggywd wdpwyubpp wybuwnp £ hwydwd huku
wnihEphitUhg wwwnpwundwsd ntynpwnhy gliuwpyutipny, unnnjuyutiph dwyntinp” wiwuwnhy
fugwulutpny: Aninp wdpwyubpp wbwnp £ ghujwwwwn hubu:SGnwnpnudu hpwwuwgyned £
hGUwunLtuGph pGnnuwgdwdp:Swuhph swihGpp ywbwnp £ wnuwqu |hubGlu 1570x1570x911
Jd:Swuhpp pwnwpbp ywnnyg £, mGnuwnpywd £ hwdwihph 4 hGUwuynltubGph ypw: Udpwyubpp,
nnpnug vhgngny vhwgywé GU Ynntpp (4 hww), nnnup gunuyned GU Jhdjwlg Lywwndwdp nLnhn
wluyjwl nwy, ybnp £ yywunpwundwd hutu wnujwql 2 JU hwuwnnipjudp ynnwuwuwnb pGpphg:




unntpp wbwnp £ ywwnpwunywsd |hubl unbwywnhdwgyniu FSF Uppwwnwhinnwyhg wnujwqu 15
Jd hwuwnnipjwdp: 2Qunpyutin (4 hwwn) MGwnp E ywwnpwunywé |hutu unuwydwywyniu FSF
Uppwwnwhinnwyhg wnudwaqu 9 UU hwuwnnipjwdp: Lwuestpp W Yynnbpp wbwnp EuGpywé huku
Gnwluwywjht wwjdwuutpht nhdwuwnt hwdwn bwhiwwnbuywd UGpyny: Lppwnwhunnwyh
dwubpp hwdwpyned U JhwuhU® ogunwagnnpétiny dGunnwnwywu Ygnpnubp® wwunpwunwsd
wnnuuwuwnb ptnphg” wnujwaqu 2,5 U hwuwnnipjwdp: vwnwhwppwyp ytwnp £ pwnyugwé thuh
hhdphg, hwuwnwyhg W wdpwgnwdubphg: Qwunwyp wbwnp £ wywunpwuwnywé huh oph W
Jw2dwodnipjwl hwuntw pwnpanp nhdwnnpnepintlu ntuGgnn Uppwwnwhpinwyhg wd hwdwndtphg ,
wnUdwqu 15 Jd hwuwnnrpjwdp hwwuwjpwpnn dwéwuwwwundwdp: Qwwnwyl hptuhg
ubpywjwguncd £ 900%900 JJ (+-10 UU) pwnwynLuh® wuyjntuubpnud ynpdwd hwunywdubtnpny:
wwnwyp wbwnp £ wdpwgyh hhdphu wnudwqu nip yunniinwwynp Jhwgnedubpny:
lvwnwhwpprwyh sgwthtpp wbwnp £ [huGU ng wybh, pwu 900 * 900 JU:Unwpwlup wGwp E
wwwnnpwunywsd |huh gdwlugnuindnn wynnwuwunb JGy ptpphyhg 1.5 JU hwuwnnipjwdp W wnujwqu
2440 * 495 JJ swihubpny: Unwpwup wytwnp £ ntubUw wnUujwql 1595 JJ Gpywnpnipjwdp uwhGint
hwunywéd L wnujwql 530 JJ Gplywpnipjwdp wpgGiwyhgsutn, npnug dhepl a6ydwl 2wnwdhnp
wbwp £ |huh wnuwqu r = 450 JUJ: Lpplh Jwunwd” wpgbiwydwl hwwnywdhg hbunn,
pGpnLejnLtup wtwp £ 2npdh nbwh ybp® 60 UU-hg ng wdbh Ynpnipjwl 2wnwynny: Unwpwlh
prGpnLpjnLup wtwnp £ wwywhnyqwé huh punbwydwuwyntu FSF Uppwuwnwhinwyhg ywunpwunyuwd
hGUuwpwuutpny wnujwql 9 JJ hwuwnnipjwdp: Fwgh wjn, unwpwuh pGpnLpjntup wybtwp E
wudpwgyh 2nh2wyutpny, npnup wtwnp £ wdpwgytlu unwpwuh Ynnphu: Sph2wlutinp wtwnp £
wwwnnpwunywd |hublu punuwynipjwlu nhdwgyniu FSF Uppwwnwhinwyhg wnudwqu 9 Ud
hwuwnnipjwdp W wnujwaql 60 UU pwpanpnipjwdp: Unwpwuh (nguphpdwwu hwwnywéncd,
Jwnnrgywéph |pwgnighg Yynpuninep)ntu uinbndbint hwdwnp, wnudwaqu 2,5 JU hwuwnnipjudp
Jounwnwywu phptnhg ywunpwunwéd yuwbpp thwywagdh nnGupny wybunp £ wdpwgyblu
unwpwUuh Ynnptphu: UnwpwUuh Ynnptpp wybwp £ ywwnpwundwsd hubu unbwydnipjwl
nhdwgyncu FSF Uppwunwhinnwyhg wnUuwqu 18 JU hwuwnnipjwdp, 2345 JU Gpywpnipjudp W
wnUdwaqu 225 Jd pwpapnipjwdp: UnwpwUh Ynnptpp wGwp £ pwpbpwlwl pGpnipjwl
dwwpnwyhg wnujwql 120 JU-ny: UnwpwUuh punhwuncp swthtGpp wGwnp £ jhubu wnuywaql
530*1965*1345 JJ:Qwdwhph hGUwujnLtutpp ybwnp £ ywwnpwundwd |hubu ynnwuwuwnb




hunnnqwyhg wnudwqu 76 Jd npwdwadny, wywuwunh hwuwnnipjwdp wnujwaql 2 Jd, onwlwal
wynuutnny’ jnLpwpwlgnip 150 Jd, hwdwihph vnmwpptpp pwpapnepjwl ypw 62qgphin inbnuinpbny
hwdwnpn: Uynuutpp wbwp £ yhpwndblU vwnp albwynpnn Swipwynp giuwlbwthwpbpUbpny:
Anwlugny wupwgyned U Gpynt ynnwuwunb Yhuwdpwgnighsubnph nnGupny ubndwyubp® swéoyywod
wwuwinhyny, npnup hpwnp U agyntd yuinnrinwyubpny: LUwU ubGndwyutph oqunLpjwdp
hGUwuynLtuGphUu wdpwgynid £ 900Ud uwnwhwppwyp:UpgGiuwuwwwnub2p wybwnp E nGnunpywé
thup GpGhuwubph wudunwugnipjwl ywhwwunipjwl hwdwp WL ybwnp £ pwunwgwéd huh Ynnwjhu
wwuwnbphg: FSF Uppwunwhitnwyhg wwunpwunyjwéd ynnwihu ywuwnp wnujwqu 15 Jd
hwuwnnipjwdp: Unnph ywwp wyGwnp £ ntuGUw wnudwaql 680 * 755 JUJ swthutn: Unnwjhu wwuwh
ysunpnunwd” Ynnwjihu ywwh ybphu dwuhg 155 Jdd htnwynpnipjwl ypw, ybwnp £ jwunwnyh
nLnnwhwjwg d¢jwabL wugp” wnujwaqu 80 * 300 JU swthutpny, wnujwaqu 40 JJ ytphg W ubppl
Unpnipjwl 2wnwynny: Upgblwwwuwnlutbop wGwnp £ pwnugwd |huph ww2unwwuhg hnphgnuwwu
uwhdwlwithwyhghg W wyw2unwwlhg ynndh nunnwhwjwg «wjntnphg»: Upgbwwwuwnluboh
Yunnigwoépp whwnp £ pwnugwé |huh hwgwannhg (hnphgnlwywl yw2wnwwlhg
uwhdwlUwthwyhy)” wnuwqu 780 U Gpywnnipjwdp, ywunpwunyjwd wnujwqu 33,5 * 2,8 U
swithutpny JGunwnwywlu junnnwyhg: vwgwaoannh Gpyne YynndGpned, dwjptphg ng wybih, pwu 13
Jd hGnwdnpnipjwl ypw, wybunp £ nGnwnpytu 11 Jd inpwdwagdény Gpyne wugptn, nnnug duhengny
hGunwaquw)nd wpgGwuwwwnub2p wdpwgynwd £ hwdwihph hGUwuntuGphU UGnmwnwywu phpertnhg
wwwunpwunyjwd yuinncinwuwjihu Jhwgnedny, hwuwnnipyntup wnujwaql 2,5 Jd: Gipp Gpynt
wnnwuwuwbt Yyhuwybnlh nmGupny wywnwnydned £ wuhpwdbown pwpépnipjwu ypw, hught bywuwnnid
GU npnwyh pundhencduGpny tnnGnwnpywdé hGUwujnltuGph ypw Gnwéd wynulubpp: vwgzwadnnh
unnphb hwwnywéncd wnuywql 55 JJ Gpywpnipjwdp Gpyne JGnwnwywu ytnhyutbp wbwnp E
Gnwygybtlu htnnwagw wdpwgdwl hwdwnp. Unbwql 780 JJ pwpapnipjwdp W wnuyjwql 85 JJ
(wjuncLpjwdp UGpnhputpp wbwnp £ ywnpwunywsé thutu FSF wugnpwughy Uppwwnwhitnwyhg
wnUjwqu 18 JJ hwuwnnipjwdp: LGnnhpubGphu wbwnp £ wdpwgytu FSF wugpwlughyy
Uppwuwnwhinwyhg ywwnpwunywsd wywrnwwluhy «wjnbnp»” wnudwqu 15 Jd hwuwnnipjwdp:
Urgbjwwwunub2h ywounwwluhy «wjnbph» unnphu Gapp wbuwp £ pGpywéd |huh unwpwuh
prGpnLpjwlup hwdwuwwunwuhiwl WL wdpwgyh unwpwuh Ynnwjht wnnigywbphl:
UpgGlwwwuwnuboh punhwuncp swthGpp wbwnp £ hubu wnujwqu 340 * 955 JdU:UuwnmhGwulubph




swthbpp wbwp £ |huGU 840*786*1715 JU (+-20 JUJ): Uunnhdwlubph pwanphpp wbuwp E
wwuwnnpwunywd |huh wnujwqu 32 * 2 Jd gwihubGpny W wnujwqlu 1500 JJU Gplywpnipjwdp
JGunwnwywUu punnnywyhg: Unbjwql 18Jd hwuwnnipjwdp junbwynipjwl nhdwgyniLu
Uppwwnwhinnwyhg ywunpwunywsd Ynnwiht ywunbpp wybunp £ wdpwgybl Jwunwywéwnbphu®
oguinwagnnpdbind wwpnipwywjhu Jhwgnedutbp: Unujwql 60 * 380 JJ swihutpny UGy nGUnpwunhy
ojw| wugp wtwnp £ nmGnwnpyh Ynnwjhu ywwwnbnh dGg: Unnuuwyh wywwnbph punhwuncp gwhGpp
750%¥1640 Jd-hg ny; wwlwu: 150*610 JU zgqbpwquwlgnn swthubpp wGwnp E ywwnpwuwnywd hutu
pwnap oph W dwpJwénipjwl nhdwnpnipjwdp FOF Uppwwnwhinwyhg” wnujwqu 15 Jd
hwuwnnipjwdp hwwuwjpwpnn wéyny: Wunhdwulbpp ybunp E wdpwgytu JGunwnwyuwl
anntph ypw wywnncinwywjhu Jhwgnudutph dhengny: UGunwnwywlu dnntpp wybwp E
wwwnpwunywd |hubtlu denwnw phptinhg” wnujwqu 2 JJ hwuwnnipjwdp, Gpywpnipntup’
wnujuwqu 610 JJ, jwjunLpjntup W pwpapniejniup” wnujwaqu 110 Jd: Uudunwlgnipjwl
Ujwuwnwnnudubphg GuGny, hwppwyh W ytpght wunhéwuh Jhew hwgniuwnh W Jwnpduh Jwubph
hugwudwl nGwptphg puncuwthGint hwdwnp, wnujwqu 65 * 610 JJ gwihubpny nLnnwhwjwg
nwhinwy, ywwunpwunywd FOF Uppwwnwhinwyhg' pwpap epnd W dw2dwéncpjwl
nhdwnpnipjwup, wybwnp £ nGnunpyh wnujwaql 18 U hwuwnnipjwdp hwwuwjpwpnn dwéy
thwybind wugpp wunhtwuutbph Jhol:Uwggdwl hwppwyh punhwuncp sgwhtGpp wybwnp £ |hutGu
wnujwqu 900 * 750 * 915 J:J 99*750 JU-hg ng ywlwu, 102*750 JU-hg ng; wybh swithubpny
wuwnhéwulbpp wGwnp £ ywwnpwunywd |hubu FOF Uppwuwnwhinnwyhg' pwnap 9ph W
dw2dwoéncpjwl nhdwnpnipjwdp” wnujwqlu 30 JU hwuwnnipjwdp hwwuwjpwpnn dwdyny:
Uuwnhdwulbpp wbwnp £ wdpwgybu Yynnwjhb ywwnbph hGUwpwuutph ypw' jncpwpuwlgnipp
wnUjwql Gpynt yunnncinwlwynp dhwgnedubnh dhengny: Mwunpwuwnh dwagjgdwlu hwppwyncd
ynnwjhu wwwbtnph wnwugputph vhpl hGnwynnpnipjntup wybGwp £ huh ng wybih pwu 530 JU:
Unnwjht wwuwnbph hGuwpwulutpp wewnp £ Yywunpwunywd hubu Jnwnw wypndhiwjhu
hunnnywyhg, nph gwithubpp wbuwp £ (huGU wnUjwaql 50 * 25 * 1,5 JJ W Gpywnpnipyniup 1415 JJ:
Mwwunpwuwnh Yynnwjihu wywwh 2ppwtwyp wybwp £ thuph r = 740 JJd 2wnwynny 2ppwlwagbh
hwuwnydwéd™ 125 Jd-hg ny wdbih nunnwhwjwg ntnhn hwwnywény W 100 Jd-hg ny wdbih
hnphgnUwywUu ntnhn hwwnwény:Ywdwpp nGnwnpynud £ uwnwhpwwwnpwyh Jh
hwppnLpntuhg Ujntulu wudunwlug wuglbint hwdwp: bwdwnpp 780 (+-1) Jd Gpywpnipjwdp




«Kng Cnop

T>» OO0 B KayecTBe

huwgwal punnnywy B ywunpwuwndwéd wnujwqu 33,5 Jd inpwdwagény W wnujwqu 2,8 U
hwuwnnipjwdp UGunwnwywlu junnnywyhg: vwgwéannh Gpyne ynndGpnud, dwyptphg ng wybkih, pwl
13 JJ hGnwynpnrpjwl ypw, ybwnp £E mGnwnpdtbu 11 Jd mpwdwaény Gpyne wugpbp, npnup
hGunwauw) nud wdpwgynid GU JGunwnwywu pheptnhg wuwunpwunywd ywnpnipwwjhu Jhwgdwl
dheongnd, hwuwnnipintp wnbdwqlu 2.5 JJ, npnny ywdwpp wdpwgyned £ hwdwihph
thwmebrEHl?ﬂnqé?EmBm I@g#ﬁ%ﬁnqmu E nnLpu GYwé Jwggdwlu hwppwyh Yynndhg
hwnwhpwwwpwyh ypw wudunwug dncinph hwdwn W hpGUuhg uGpywjwgunwd £ 780 (+ -1) UJ

GpUwnpnLpjwUp H‘p“éﬁ%éa”r%e%%‘r“ _IL_UOUBLQH%JC wnujwqu 33,5 U lnpwdwagény WL wnbjwaql 2,8 JU

a T RA D B MR SRS D o W H R PSS 9 kL DA AU G BB PR R 2B 58 9, i)
A SO TR RS S B Ll B, L wiinp E puinbuigwd

Homep noTa

[nUn FSF unpwmwruLnuJqngnBJenﬂunLgurjgngb?muTuoggjpuanprup: [ONPEGND WGwp £t NLUGUW Wwnugwqu

HanMeHOBaHNe
npomssoonTensd

7I0*295 UU zuothutn: Uwnuw#ék”ﬁHq%EEﬁ'e@%’@%e%m%@Wknvajnu dwdgtn: SGnuwnpnLuu
hpwywlUwgynid £ dwunwlwpwnph ynnuhg: Uphuwwnwlupp ujubintg wnwe wbwnp £ uGpywjwgytbu

WU pENN WUdiNWUgnLE Wy (- MU Wi U U UL Wt MW um gnGna WU i

puonhuwt qunpnuy:



http://www.tcpdf.org

